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Algebraic functions_ 2




0 [}F | Ordered Pairs
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Definition The ordered pair (a, b) = (c, d) if and only if a = ¢ and
b =d.

}v@ é Ordered Pairs are symbols that show the pairing of two

\H things in parentheses ( ), separating each thing with a
comma. Generally in mathematics it is popular to write
ordered pairs (a, b) or (x, y) in which a or x is the preceding
element, b or y is the latter element. Switching between
members The front member and the back member will display

that pairing. changed from the original, that is, (a, b) e (b, @)
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Let A and B be a set. The Cartesian product of A and B is
denoted by A x B, where AxB ={(a,b)|]aEAand b EB).
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example Given A={1,2, 3}, B ={a, c}
Find AxB,BxA,AxA, and B x B.

?iaﬁ?imimwL?'ia'zﬁ'uwaqmﬂq'%'ﬁL%ﬂu
1. AxB = BxA fdodlo A=B uaz B=A
2.1 A {g¥n m @7 uar B Hau1®n n #7 Ue? A x B Ha@u®n mn @7
3. AX (B U C) = (AXB)U (A X0

4. Ax (BN C)

Il

(A xB) N (A xC)
5. AX(B-C) - (AxB)-(AXCQ)
6. 91 A uwaz B {Wuwminnm n (A x B) = n(A) x n(B)

7. 1 A Juwestud, B 1uwnindn B £ 0 LAY A x B 1ag B x A [Huwnaiiug




o /}‘ Relations

1} )

L Let A and B be sets, r be relations.From A to
Definition

B if and only if r is a subset of A x B.
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\ Economic Order Quantity (EOQ)

Total Cost

Set up Cost

Order Size




Domain and range of relations

Definition

Let r be the relationship from A to B. The domain of r is denoted

by D_r.where D _r = {x | (x, y) € r} and the range of r is denoted
by R rwhere R r={y | (x,y) € r}
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{(1,6), (2,7), (3, 8), 4, 9), (5, 10)}
{1, 2, 3, 4, 5}

R = 167,809, 10}
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Checking function by graph

It is useful to determine whether a relationship is a function or not using a graph.
How to check can be done by Draw a line parallel to the y-axis. The line will only
intersect the graph at one point. The point at which the line intersects the graph

is the value of the function x.




Execution of the function

Wt uag g Wuilsddu D uay D, Wulauees f way ¢ Auans:

X)) = f(x) + gx) way Derg Dfﬂ Dg

. (- 29 f(x) - g(x) Laz : Df M Dg

L (f e 9)X) f(x) - gx) 4ag D D, N D,

L
g (x)
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muwa  f={(1, 3), (2, 5), (3, 2), (4, 6)}
WAz g ={(2, 1), (3, 0), (4, 2), (5, -1)}

NN f+g,f-g,fgl,l,aw§

osn f+g f-g fog dlawwiu D, N D,

D,ND, = (23 4)

() f+g = {(2,5+1),(3,2+0), 4, 6+2)}
= (2, 6). 3, 2), 4, 3)}

2) f-g = {(2,5-1),(3,2-0), 4, 6-2)}
= 2.4, 3,2, 4 D)

(3) f.g = {2, 5-1), (3, 2:0), (4, 6.2)}
= 12, 5), 3, 0), (4, 12)}

@ fewn L fillawudu D = D N D, - (x1g) #0)
& g
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D.ND, - {3)
{2, 4}

5 6
2,2), @4, 2
{( 1)( 2)}

12, 5), (4, 3))

(o391 ¢(3) = 0)
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